EARAROBREBRT —5 XN—ZXBISH—F

202338308 (AR) 20EXH4H

3R EES

C3——=

‘(fﬁ} W ‘I%EH?’JF&] | 5 1200 7@

[AE%] 1 7% :800,000F  27&:320,000 M  337%&:200,000H” ~ 43:120,000H . 5 7&:80,000 M

B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
NP s 7 | FRES 1:14.1 3-3 383 — | 10 | 412 |BRA—R (KH)
11815 ¥7/FVY 353.0 - wg) | TII=EB
RYDRAT4 TSR BT/ AV h— NFAVRI YR
~ s 7 | FiEE 1:14.2 14-14  |37.1| - 4 | 474 | TEEE KH)
s g | 7ROE-UFY %530 (3/4) W) |YTSYTRRIAVE W)
REVFOVY B:7EY—F F—U— - Jv/\Y - T7—LBRR
»_ = 4 5 | HEXE 1:14.3 6-6 8.0 — 1 545 | ARMEZ (KH)
315/(10 UA—X9E—D 56.0 (172) () |ERARE=
R:FRF BEALFE-—L (B) #hI—RLU—vavEEI7
" ~ ) # 6 | GllEEN 1:14.5 55 8.4 — 2 452 | SR (KFH)
417113 NAIRVTY 54.0 (1 1/4) (-5) |EAELE
R:JYTURL BPAUYRTH—h NIVERTP—L
~ 3 s 7 | AHEE 1:14.7 7-7 38.4] — 3 | 47 |EEAOME (CKH)
517114 VYo=Y 54.0 (3/4) 1) |BARHE
RIIZARD=IVYF— 8:ILI—XH—IL ML R
Y S — B 6 | TS 1:14.9 2-2 9.2 — | 13 | 442 |BRE H)
6 6| PT/T1T5 %53.0 a 1/4) gy | FII=EE
RiYURI4ISR #:9T/NITOE BRI
— o BEE_H :15. - . - AT (KH)
7 5| FFaSNLT4—N "6 A53.0 1(115)1 " -6 ° (i?z) (B) FFa3l
RiR—HANR B:YIWISANY— RE -
—_)— st 5 | BARE 1:15.1 15-15  [37.9| - 6 | 461 |EEBEEK (KFH)
8816 VI—V=7 54.0 hF) 5 | TR
R:AR—KT77)VIY B:Ud—/IS= Ua—T7—LAh
gy =5 vy 4 | REEE 1:15.5 13-13  [38.6| — 15 | 438 |#HAEZ (KFH)
EH 4| IVVESTI 56.0 Q) -5) PR
KR40 B:N—=NUFPY FUIY NG
S, L )2 :15. - . - KEZE (KH)
10l5|9 | YEYIFZLLY b "3 1(115)7 M ’ f_?) ERAET
RNV RSAY B:RL—F SRS
s I\ w it 4 | REF— 1:16.0 10-8 39.4| - 14 | 477 | BEER (KH)
1R TR/ NAF LY b 54.0 (1 3/4) (14) | EERET
R:PT7I9— B1ITUYFLRAX PH B
35 == 4 5 | ERESE 1:16.1 16-16 |38.8| ~— n 478 | RS (KH)
121112 ¥a121L>7 54.0 P @) | EOES
RiXAYIVHYLYY B:F—E—-V—-V BEE%S
TR 4 6 | BEX 1:16.6 12-12 [39.8| — 8 470 | BABZ (KH)
13)1[1]|AO0—7=F 54.0 @1 (1) | AR
RIZADIFA—T7—R—F 8B:20-547 XA TFIWT7—L
> 8 4 | fPEXE 1:16.7 11-10  [40.1| - 9 439 | K=t (KH)
14| 7205 #53.0 G o |ER
RiVaVYNY B:URFTAFPIF— ) 45
—~ ¥~ g3 it 4 | HEES 1:16.8 9-1 4.2 - 16 | 426 |FEBBREUR (k)
15 7| PNXZUNVITF ¥53.0 (3/4) (4 |THAEF
RYM/ TSIV B:PIZVAILT—I SRS
S~ BEREA 7. - . - HEHE (1)
M . BEEVEZ: R Bl A el X
RS BTFASTYIH— BEEI7—L
@ 11— —BBIEfI
13—7+—
20—7F—
30—7— 5,6,15,9,13,10,14,3,7,12,11,1,4,8,16,2
43— — 5,6,15,9,13,10,14,12,3,11,7,1,4,8,16,2
o ILRE
B B 15 3,660 JA R 8-15 4,280M % 3= 4-8 3,430 3EE 8-10-15 19,660M
7B B 15 580 10-15 3,170 B 8-4 6,220 3EH 15-8-10 230,500/
8 190M4 8-10 640 5B & 8-15 17,910
10 140 =51 15-8 41,940

ABIC OV TRUTEREERRODDZE. THRIIZEL.




